T 20175643 H5-D35 % R a
I 5E B R BE | BEE | BEME [HRHERE]AEEB/cm3)| HXE ¥ F ADE
VET 7:40~7:50 A A2 9M | 2.89E-06 1.04E-05 1.04E-05 &
B’ 2.89E-06 491E-06
e 8:55~9:05 b d:ic} [i] 2.90E-06 4.38E-06 6.65E—06 &
3] 2.90E-06 6.03E-06
it 2.93E-06 6.65E-06
feseen 2
(1EBNGD =
B8) T
3 2.89E-06 7.09E-06
(=73 13:45~13:55 i} i} 2.90E-06 3.83E-06 7.75E-06 &
[ 2.90E-06 4.93E-06
it 2.93E-06 7.75E-06
B
ESC i
(1EBNGD
B8) i
= 20175616 H5-D3%—% b
I 5E PR BE | AEE | BEME [HRHERE]AEEB/cm3)| HXE ¥ F AHE
EERT 21:15~21:25 3 AR | 2.89E-06 2.35E-05 2.35E-05 &
B’ 2.89E-06 6.00E-06
e 23:10~23:20 3] [i] 2.90E-06 3.83E-06 6.65E-06 =1
3] 2.90E-06 5.48E-06
it 2.93E-06 6.65E-06
feseen 2
(1EBNGD =
B8) T
B 2.89E-06 6.55E-06
T 23:50~24:00 3] i} 2.90E-06 9.31E-06 1.21E-05 &
[ 2.90E-06 1.21E-05
it 2.93E-06 5.54E-06
B
ESC i
(1EBNGD
) i
= 20175616 H5-B152% 3473
I 5E PR BE | BEE | BEME [HRHERE]AEEB/cm3)| ZXE ¥ F AQE
VET 21:30~21:40 aygm 2.90E-06 1.09E-05 1.09E-05 &
2.90E-06 6.56E-06
fegh | 22:10~22:20 % 299806 | 980E-05 | 131E-05 &
it 2.97E-06 3.92E-06
feseen 2
(1ETENGD ﬁ
) T
R 2.90E-06 1.15E-05
p A0 . i} 2.99E-06 9.03E-06 ~ A
%% |6/72:40~6/7 250 7 & 2 89E-06 1 36E-05 1.51E-05 (=]
it 2.97E-06 1.51E-05
feseie 2
(1ETENGD ﬁ
158) i
= 20115617 H5-D3% % 2
I B Bm | BEE [ BFEME [BHERE|AIEEB/cm3)| mXA{E ¥ E AX#E
EZHIT 21:05~21:15 52l 9>£W 2.89E-06 8.18E-06 8.18E-06 &
2.89E-06 9.27E-06
o150 i} 2.90E-06 7.12E-06 _ ™
E s 22:20~22:30 = 5 S0E-06 L04E—05 1.94E-05 &
it 2.93E-06 1.94E-05
feseen 2
(1EBNGD =
B8) T
B’ 2.89E-06 6.00E—-06
P AR 07 i} 2.90E-06 9.31E-06 _ ~
e 23:45~2355 M &2 2.90E-06 1.04E-05 1.04E-05 =
it 2.93E-06 6.65E-06
feseis 2
(1EBNGD =
B8)
b




= 20175617 H5-B12>% 3 T
B 7 B A ArE | AEE [GHEME [REERE[AIEEBy/m3)| HXE ¥ 3F Ah&E
lETT] 21:10~21:20 25K | 2.90E-06 9.30E-06 | 9.30E-06 &
= 2.90E-06 8.21E-06
fegh | 22:30~22:40 % 299806 | GIBE-0S | g21E-08 &
it 2.97E-06 3.92E-06
frsten 2
(1ETENGD ﬁ
) W
= 2.90E-06 4.92E-06
%% |6/8020~6/80:30| T % gggg:gg ;'ggg:gg 9.27E-06 a
it 2.97E-06 7.29E-06
fesis 2
(1ETENGD ﬁ
Ba) T
= 20115618 H5-D3% % 2
I 5E B AR | AlEE | BEfE | RHERIE | AIFEB/cm3)| mAE ¥ F Ah#E
EEHI 21:15~21:25 | dtil 29K | 2.89E-06 1.20E-05 1.20E-05 &
B’ 2.89E-06 8.18E-06
fegeh | 2230~2040 | it e e | o408 | &
It 2.93E-06 9.41E-06
fEgep 2
(EENGD -
Ba) %
B’ 2.89E-06 1.20E-05
tesie | 2330~2340 | it e B R IR &
It 2.93E-06 6.65E-06
trsi 2
(1EENGD =
Ba) i
= 20174678 H5-B14—Y 2
B 7 B A A | AEE [HEME [REERE[AIEEBy/m3)| HAE ¥ 3F Ah&E
[ETTi 21:20~21:30 | Jt.74 25K | 2.90E-06 6.56E-06 | 6.56E-06 &
= 2.90E-06 1.48E-05
fezt | 2240~2250 | 4 % 2OOET00 | 19%E0 | 207E-05 &
it 2.97E-06 2.07E-05
frstes 2
(1ETENGD ﬁ
) W
= 2.90E-06 1.75E-05
ez | 2320~2330 | 4 % POOETO0 | 1AIET00 | 1.79E-05 &
it 2.97E-06 1.79E-05
fEsit 2
(1ETENGD ﬁ
) T
= 20175619 H5-B14>% 2
I 5F B Bm | AFEE | AEsE [RHERE[AEEB/cm3) RXE ¥ F ADE
EEHI 21:05~21:15 52l A 9A | 2.90E-06 1.31E-05 1.31E-05 &
B’ 2.90E-06 1.37E-05
fegs | 2220~2230 % POSET00 | (30ETDS | 151E-05 &
It 2.97E-06 1.51E-05
frsep 2
(1EENGD -
) %
B’ 2.90E-06 1.20E-05
Z AE oA i 2.99E-06 1.07E-05 _ -
frki 23:35~23:45 M [ 2.89E-06 1.47E-05 1.47E-05 =
It 2.97E-06 1.40E-05
frs 2
(1EENGD =
)
b




= 2017156130 H5-D3%— % { R
B 5 B R EArE | AEE _[HEME [REERE[AIEEBe/m3)| HXAE  F Ah&E
lETT] 21:00~21:10 ’swgéjm 2.89E-06 6.00E-06__| 6.00E-06 &
2.89E-06 1.47E-05
fEgh | 2200~22:10 % 2908-06 | JI0E-05 1 9 03E-05 &
it 2.93E-06 1.27E-05
frsten 2
(1ETENGD ﬁ
) W
= 2.89E-06 1.20E-05
E%%#% |6/140:10~6/14020| T % gggg:gg } i;E:gg 1.48E-05 &
it 2.93E-06 1.44E-05
fesis 2
(1ETENGD ﬁ
Ba) %
= 20171561140 H5-B15—7 E5
I 5E B AR | AlEE | BlEfE | RHERIE | BIFEB/cm3)| mAE ¥ F Ah#E
EEHI 21:20~21:30_ | & A 9A | 2.90E-06 1.59E-05 1.59E—05 &
B’ 2.90E-06 1.31E-05
tegen | 2210~2220 | dt% B | iaoe Taos | 153E-05 &
It 2.97E-06 1.23E-05
fEgep 2
(EENGD -
Ba) %
B’ 2.90E-06 9.30E-06
etk | 2345~2355 | % gggg:gg }?gg:gg 1 29E—05 &
It 2.97E-06 1.29E-05
trsi 2
(1EENGD =
Ba) i
= 20171568160 H5-C55>% 3473
B 5 B R ErE | AEAE [GHFEME [REERE[AEEBe/m3)| HAIE  F Ah&E
[ETTi 21:10~21:20 It ’swgéjm 2.89E-06 1.75E-05 1.75E-05 &
2.89E-06 1.53E-05
fezt | 2210~2220 | % 2O0E00 | 2METD | 2.14E-05 &
it 2.93E-06 1.50E-05
frstes 2
(1ETENGD ﬁ
) W
= 2.89E-06 8.18E-06
ez | 140~150 | dtE % SODE0 | 1UIET0 | 1.38E-05 &
it 2.93E-06 1.38E-05
fEsit 2
(1ETENGD ﬁ
) %
= 201161190 H5-C5%>% i
I 5F B Bm | AEE [ AEsE [RHERE[AEEB/cm3) RXAE ¥ F ADE
EEHI 21:10~21:20 i 9‘/:%7?:1 2.89E-06 6.55E-06 6.55E-06 &
2.89E-06 1.58E-05
tegen | 2230~2240 | i B | ol e | 158E-05 &
It 2.93E-06 1.27E-05
frsep 2
(1EENGD -
) %
B’ 2.89E-06 1.20E-05
Z Ao 92 i 2.90E-06 1.42E-05 _ -
EE& 23:40~23:50 it = 2'90E—06 126E-05 1.42E-05 A
It 2.93E-06 1.16E-05
frs 2
(1EENGD =
)
b




T 2017564190 H5-DA%—% R a
| 7E B3 2 EAm | BIFEE | AEME | SEERE BEEB/cmd)| FHAIE ¥| FE ADZE
VEST] 21:10~21:20 it ay_ﬂgm 2.90E-06 6.56E-06 6.56E-06 &
2.90E-06 1.48E-05
fezdh | 2320~2330 | it % POOETO0 | I AaE o0 | 1.79E-05 &
it 2.97E-06 1.79E-05
feseen 2
(1ETENGD ﬁ
58) T
R 2.90E-06 1.20E-05
%% |6/20 3:40~6/20 350 R % gggg:gg }ggg:gg 1.96E-05 =
it 2.97E-06 1.96E-05
feseie 2
(1ETENGD ﬁ
58 i
= 20171561200 H5-C55>% 2
I 7 B Arm | BFEE | AEAE | SRR E [ BEEB/cmd)] FHAE 3| Ah#E
EZHIT 21:00~21:10 52l 9>£W 2.89E-06 1.15E-05 1.15E-05 &
2.89E-06 1.91E-05
ez | 22:40~2250 % PONEO0 | ETDS | 1.91E-05 &
it 2.93E-06 8.31E-06
feseen 2
(1EBNGD =
) T
B’ 2.89E-06 1.20E-05
%% | 2340~2350 | MR % gggg:gg }S;E:gg 1 92E—05 &
it 2.93E-06 1.22E-05
feseis 2
(1EBNGD =
B8) &
= 2017565200 H5-DA%—% B
| 7E B3 2 Am | BIFEE | AEME | SEERE BEEB/cmd)| FHFXIE ¥| FE ARZE
VET 21:30~21:40 ay_ﬂgm 2.90E-06 1.09E-05 1.09E-05 &
2.90E-06 1.53E-05
fegh | 2250~23.00 % 299806 | 14IEZ05 | 4 76E-05 &
it 2.97E-06 1.63E-05
festen 2
(1ETENGD ﬁ
58) T
R 2.90E-06 1.81E-05
fegis | 2350~2400 | B % 299E700 | 1G5 | 181E-05 &
it 2.97E-06 1.51E-05
feseie 2
(1ETENGD ﬁ
58) i
= 201756 A 21 H H5-C54>% ERNE 2% B Btk AR 1K
| 7 B Am | BEE | AEAE | HHERE [ BEEB/cmd)] FHAE 3| Ah#E
EZHIT 21:20~21:30 52l 9>£W 2.89E-06 2.73E-06 2.73E-06 &
2.89E-06 9.82E-06
s | 2o | B ol | SR eos| @
it 2.93E-06 3.88E-06
feseen 2
(1EBNGD =
) T
B’ 2.89E-06 8.18E-06
p AR, i} 2.90E-06 6.57E-06 _ ~
e 23:45~2355 & &2 2.90E-06 3.83E-06 8.18E-06 B
it 2.93E-06 7.75E-06
Ed
(=73 7
(1ETENGD
en 2]
58
Jt




= 201746 H21H H5-D4%> % EELZEN  EERRERE
3B 7 B P Er | AFEE | BFEME | SmHERE | BEEB/cm3)| mAE ¥ F AnE
[ET i 21:20~21:30 m 22 5A | 2.90E-06 4.38E-06 | 4.38E-06 &
Ed 2.90E-06 9.85E-06
00~93: [iif] 2.99E-06 6.78E-06 _ N
s 23:00~23:10 | FEE = 2 BOE=06 927E—05 | 9-85E-06 a
| 2.97E-06 5.61E-06
Ed
LS 7
(1EBNGD
52) #
it
Ed 2.90E-06 6.56E-06
, A7, [i] 2.99E-06 6.78E-06 _ -
S 23:40~23:50 [if] = 2 80E-08 491E-05 | 6-78E06 A
it 2.97E-06 6.17E-06
Ed
IS Fi
(1E ENGO
B A ﬁ
e
it
= 20115 6H22H H5-D42>% 2
3B 7E B P Er | AFE | BFEME | SRHERE | BEEB/cm3)| mAE ¥ FE AnE
YEERT 21:10~21:20 i 22 5A | 2.90E-06 9.30E-06 | 9.30E-06 &
Ed 2.90E-06 1.31E-05
40~ 0. i 2.99E-06 1.41E-05 _ -
s 22:40~22:50 | JLiE = 2 BOE=06 180E05 1.80E-05 a
| 2.97E-06 9.53E-06
Ed
LS 7
(1EBNGD
52) ﬁ
it
Ed 2.90E-06 1.20E-05
p 230~ 93 [iif] 2.99E-06 1.64E-05 _ N
E%R 23:30~23:40 [if] = 2 80E-08 175E-05 | 1-79E-05 A
it 2.97E-06 1.23E-05
Ed
3 Fi
(1E ENGO
B A ﬁ
e
it
= 20175 6H26H H5-C55>%5 :
3B 7 B P Er | AFE | BFEME | SmHERE | BEEB/cmd)| mAE ¥ FE AnE
ET T 2055~21:05 | @R 29N | 2.89E-06 9.27E-06 9.27E-06 &
Ed 2.89E-06 1.64E-05
A5~ [iif] 2.90E-06 2.03E-05 _ N
s 22:45~22:55 = 5 2 90E=06 186E-05 | 203E-05 a
it 2.93E-06 1.05E-05
Ed
YE% 7
(1EBNGD
152) ﬁ
it
Ed 2.89E-06 1.36E-05
p 5 : [iif] 2.90E-06 1.21E-05 _ N
%% |6/270:15~6/27 0:25| JLFE 5 9 90E-06 170E=05 1.83E-05 =
it 2.93E-06 1.83E-05
Ed
st i
B A ﬁ
HE)
it
= 20175 6H2/H H5-D45> %5 :
3B 7E B P Er | AFE | BFEME | SmHERE | BEEB/cmd)| mAE ¥ F AnE
[ET i 21:10~21:20 | f= 22 5A | 2.90E-06 1.09E-05 | 1.09E-05 &
Ed 2.90E-06 1.53E-05
40~ 99- [iif] 2.99E-06 1.24E-05 _ N
s 22:10~22:20 | EE 5 2 BOE=06 131E=05 1.53E-05 a
it 2.97E-06 1.07E-05
Ed
e =
HBeE)
it
Ed 2.90E-06 1.37E-05
, Eon. [i] 2.99E-06 1.30E-05 _ -
S 23:15~23:25 [if] = 2 80E-08 10aE-05 | 1-37E-05 A
it 2.97E-06 1.23E-05
. Ed
s ]
HBeE)
it




T 2017564290 H5-D715>% R a
i 7E B Erm | AEE | BEME [RHERE[AZEEB/cmd)| HZAE H E Ah&E
TEERm1 | 21:00~21:10 5D | 289E-06 | 7.64E-06 | 7.64E-06 &
R 289E-06 | 1.04E-05
D0 i 290E-06 | 1.21E-05 _ -
¥ | 22:20~22:30 = 2 00E-08 | 148E_0s | 148E-05 =
i 2.93E-06 | 9.97E-06
frsten 2
(1EBNGD ﬁ
1B
it
£ 289E-06 | 147E-05
y 05 ~3: [i] 290E-06 | 1.15E-05 _ ~
LES 3:05~3:15 ;] = 2'90E—06 150E-05 | 1-59E-05 A
i 2.93E-06 | 1.38E-05
fesit 2
(1EBNGD ﬁ
L)
dt






